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Zoom In Mathematics Grade 108

Simplifying fractions: Addition and subtraction
1. Simplify each expression.

1.1	​  1 __ 2 ​ + ​ 1 __
3  1.2	​  5a

 ___ 4  ​ − ​ 2a − 1______
3 

1.3	​  5
 ___ 4x ​ + ​ 3 __ x ​ − ​ 2 __

5  1.4	​ 
2(x − 2)

 _______ 3  ​ + ​ x − 1_____
2 

1.5	​  4 __ 
a

 ​ − ​ 5 ___ 
​a​ 2​

 ​ + 6a___
​a​ 3

​	 1.6	​  x + 5
 _____ x − 5 ​ + ​ x − 5_____

x + 5 

1.7	​   1 __________ 
​a​ 2​ + 2a + 1

 ​ + ​  1 ______ 
1 − ​a​ 2

​ + ​  1 _____
a + 1

1.8	​  1 __ 4 ​ − ​ x − 5_____
3x 

1.9	​   2 _____ 
x + 1

 ​ + 2x − 2
 __________

​x​ 2​ + 2x + 1
1.10	​   6x

 ____________ 
(x + 2)(x − 2)

 ​ − ​  2 ______ x + 2   ​ + ​  3
 _____

2 − x 

1.11	​   2 _____ 
x − 1

 ​ + 3
 _____ 

1 − x
+ ​  4 ______

​x​ 2​ − 1
​	 1.12	​  x + 2

 _____ 
2

  ​ − ​  x
 _____ 

x + 2
 ​ + ​ 2​x​ 2​ − ​x​ 3​_______

2​x​ 2​ − 8
 

1.13	​  3
 ___ 

ab
 ​ − ​ 2 __ 

​b​ 2​
 ​ + ​ 1 ___

​a​ 2
​ 1.14	​  x + 1

 _____ x + 3 ​ − ​  1 _____
x − 3 

1.15	​   x − 3
 __________ 

​x​ 2​ − 3x − 4
 ​ − ​  x − 1

 _________ 
​x​ 2​ − x − 2

 ​ 	 1.16	​   a
 ______ 

​a​ 2​ − ​x​ 2​
 ​ + 2a

 _______
(x − a)2 ​	

1.17	​   x − 11
 ___________ 

​x​ 2​ − 7x + 10
 ​ + 9 − x

 _______ 
2x − 10

​ − ​[ ​ (5x + 3)(5 − x)
  _____________

5​x​ 2​ − 7x − 6
  ​ ]

Revision: Solving for x in equations
1. Solve for x in each linear equation.

1.1	 2x + 3 = −2x − 9	 1.2	 2x − 3 = −4x + 6

1.3	 5x − 5 − (3x + 2) = 2(5 − x) − x + 3	 1.4	 3x − 5(2x − 1) = 17 − (3x − 2)

2. Solve for x in each fraction.

2.1	​  2x
 ___ 5 ​ + ​ 1 __ 2 ​ = ​ 3x

 ___ 2 ​ − 1 2.2	​  2x − 1
 ______ 3  ​ − ​ x − 1

 _____ 2  ​ = ​ 1 __ 3 ​x

2.3	​  3x
 ___ 4 ​ + ​ x + 6

 _____ 3  ​ = x + 3 2.4	 x − ​ 2 __ 3 ​(x − 2) = ​ 3x + 1
 ______ 4  ​ − ​ x + 1_____

6 

3. Solve for x in the fraction: 4 − x
 _______

x(x + 2)
 .

For which value(s) of x is the fraction:

3.1	 equal to 0	 3.2	 undefined?

4. Solve for x in each quadratic equation.

4.1	 (x + 2)(x − 5) = 0	 4.2	 2​x​ 2​ − 5x = 0

4.3	 3​x​ 2​ − 2x = 0	 4.4	​ x​ 2​ + 2x = 15

4.5	 (x + 1)(x + 2) = 20	 4.6	 (x + 5)(x − 1) = 0

4.7	​ x​ 2​ − 5x = 0	 4.8	​ x​ 2​ − 36 = 0

4.9	​ x​ 2​ + 7x = −6
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